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Department of Zoology

Assessment of Slow and Advanced Learner

! Animals' und}ergp inactive stage during winters. It is called :
(a) Acclimatisation (b) Hibernation (c) Aestivation (d) Adapatation

. Ozone protects biosphere from high energetic:
(a) Infra-red rays (b) Ultraviolet rays (c) X-rays (d) gamma rays

3. Which of the following groups is formed only of the hermaphrodite organisms?
(a) Earthworm, tapeworm, housefly, frog

(b) Earthworm, tapeworm, sea horse, housefly
(c) Earthworm, leech, sponge, roundworm
(d) Earthworm, tapeworm, leech, sponge

4. Meiosis does not occur in
(a) asexually reproducing diploid individuals
(b) sexually reproducing haploid individuals
(c) sexually reproducing diploid individuals
(d) all of these.

is a life process that is not essential for an individual’s survival but for survival of the species.
(a) Growth (b) Reproduction (c) Respiration (d) Nutrition

6. Clones’ are individuals that have exactly the same
(a) Lifespan (b) physiology (c¢) growth rate (d) genetic makeup.

7. Which one of the following processes results in the formation of clone of bacteria?
(a) Regeneration (b) Budding (c) Binary fission (d) Fragmentation

8. Asexual reproduction is seen in members of Kingdom
(a) Monera (b) Plantae (c) Animalia (d) All of these

9. During binary fission in Amoeba which of the following organelles is duplicated?
(a) Plasma membrane (b) Nucleus (c) Contractile (d) All of these

10.Sexual reproduction is considered more beneficial than asexual reproduction because
(a) it is not affected by adverse environmental conditions
(b) fertilization is a chance factor
(c) it rapidly multiplies the population
(d) it assists in evolution by producing variations.

11. Development of new individual from female gamete without fertilisation is termed as
(a) syngamy (b) embryogenesis (c) oogamy (d) parthenogenesis.

12. Deposition of‘calcareous shell around zygote occurs in
(a) birds and reptiles  (b) birds and mammals (c) mammals and reptiles  (d) all of these.

13.Select the option which shows viviparous animals only,

(a) Lizard, Turtle (b) Platypus, Crocodile (c) Cow, Crocodile (d) Whale, Mouse
14. Viviparity is found in

(a) Sharks (b) lizards (c) frogs (d) birds

15. Animal husbandry and plant breeding programmes are the examples of
(a) reverse evolution (b) aritifical selection  (c) mutation (d) natural selection.

16, Linnaeus evolved a system of nomenclature called
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(a) Vernacular (b) Monomial (c) Polynomial () Binomial

17. What is a taxon?

((a) 2 group of related families (b) A type of living organisms
¢) A group of related species (d) A group of any ranking

18.Five kingdom system of classification suggested by R.H. Whittaker is not based on:
(a) Presence or absence of a well defined nucleus. (b) Mode of reproduction.
(c) Mode of nutrition. (d) Complexity of body organisation.

19. Who is called as “Father of taxonomy”
(a) Hooker (b) Theophrastus (c) Aristotle (d) Linnaeus

20. Sweetest sugar is  (a) Fructose (b) Sucrose (c) Glucose (d) Lactose

21. Abiogenesis theory of origin supports

(a) spontaneous generation (b) origin of life from blue-green algae
(c) origin of life is due to pre-existing organisms

(d) organic evolution is due to chemical reactions.

22. Who proposed that the first form of the could have come from pre-existing non-living organic molecules ()
(a) S.L. Miller (b) Oparin and Haldane
(c) Charles Darwin (d) Alfred Wallace

23 According to one of the most widely accepted theories, earth’s atmosphere before origin of life was
(@) oxidising (b) oxidising along with H,  (c) reducing with free O, in small amount
(d) reducing with oxygen absent in O, form.

24, According to Oparin, which one of the following was not present in the primitive atmosphere of the earth ?
(a) Methane (b) Oxygen (c) Hydrogen (d) Water vapour

25. The first life originated (a)on land (b)inair (c)in water (d)all of these.
26. Coacervates are  (a) colloid droplets (b) nucleoprotein containing entities
(c) microspheres (d) both (a) and (b)
27. The correct sequence for the manufacture of the compounds on the primitive earth is
(a) NHs, CH,, protein and carbohydrate (b) protein, carbohydrate, water and nucleic acid
(c) NH3, CH,, carbohydrate and nucleic acid  (d) NHj, carbohydrate, protien and nucleic acid.

28. Which of the following is not a lymphoid tissue ? (a) Spleen (b) Tonsils (¢) Pancreas (d) Thymus

29. Which of the following glands is large sized at birth but reduces in size with ageing ?
(a) Pineal (b) Pituitary (¢) Thymus (d) Thyroid

30. A person with sickle cell anaemiais  (a) more prone to malaria  (b) more prone to typhoid
(c) less prone to malaria (d) less prone to typhoid.

31. Which one of the following disease is non — communicable ?
(a) Diphtheria (b) Flu (c) Cancer (d) Malaria

32 Which of the following pairs contains an infectious and a non-infectious disease respectively ?(a) Typhoid and
AIDS (b) AIDS and cancer (c) Pneumonia and malaria  (d) Cancer and malaria

33. Typhoid fever in human beings is caused by
(a) Plasmodium vivax (b) Trichophyton (c) Salmonella typhi (d) Rhinoviruses.

34. Which of the following is the bacterial disease in humans ?
(a) Dysentery  (b) Malaria (c) Plague (d) Both (a) & (c)

35. Which of the following pathogens causes whooping cough ?
(a) Legionella spp. (b) Bordetella pertussis (c) Vibrio cholera  (d) Burcella melitensis
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36. Which one of the fo||

Diptheria, leprosy, pl owing sets includes bacteria] diseases ?

ague(c) Cholera, typhoid, mumps

37. The common cold ig caused by

(a) Tetanus, tuberculosis, mea§les (b)
(d) Malaria, mumps, poliomyelitis

(a) Rhino viruses (b) Streptococcus pnemoniae
(¢) Salmonella typhimurium (d) Plasmodium vivax.

38. Hepatitis B is transm; !
i IS transmitted through (a) sneezing  (b) female Anopheles (c) coughing (d) blood

39. The Environment Act of Government of India was passed in
@) 1976 (b) 1966 (c) 1986 (d) 1996

40. The agents that bring undesirable changes in the environment arc called
(a) Pollution (b) Fragments. (c) Pollutants (d) None of the above

41. Particulate matter can be removed by,

g (a) Catalytic converter  (b) Converter (c) Radioactive converter
(d) Electrostatic converter

42. Noise is _ (a) pleasant sound (b) desirable level of sound
(¢) undesirable high level of sound (d) None of the above
43. DDT can cause  (a) eutrophication in aquatic plants (b) biomagnification in aquatic plants

(¢) cultural eutrophication in aquatic plants (d) None of the Above

44. What is the main basis of classification in the five-kingdom system?
(a) Structure of the nucleus (b) Structure of cell wall (c) Asexual Reproduction (d) Mode of Nutrition

45. Capacitation occurs in (2) Rete testis (b) Epididymis
(c) Vas deferens (d) Female reproductive tract

46. Which of the following layers in an antral follicle is acellular?
(a) Granulomas (b) Theca interna  (c) Stromna  (d) Zona pellucida

47. The secretory phase in the human menstrual cycle is also called
(a) Luteal phase and lasts for about 6 days. (b) Follicular phase and lasts for about 6 days.
(c) Luteal phase and lasts for about 13 days (d) Follicular phase and lasts for about 13 days

48. Linnaeus classified organisms into
a) Prokaryotes and Eukaryotes b) Monera and Protista
¢) Bacteria and Non-bacteria d) Plantae and Animalia

49. Early at mosphere contained methane and other hydrocarbons. They have been now replaced by
(a) nitrogen (b) oxygen (c) carbon dioxide (d) hydrogen.

50.First life from on earth was a (a) cyanobacterium (b) chemoheterotroph
(c) c) autotroph (d) photoautotroph
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Answer Key: Slow and Advanced Learner

e
Sr. Answer Sr. No Answer
No
1. | (b) Hibernation 26. (d) both (a) and (b) ]
2. | (b) Ultraviolet rays 27. | (d) NH,, carbohydrate, protien and
nucleic acid. )
83 Earthworm, tapeworm, leech, 28 (c) Pancreas
sponge
4. (a) asexually reproducing diploid | 29 (c) Thymus
individuals
Sl (b) Reproduction 30. (c) less prone to malaria
6. (d) genetic makeup. 31. (c) Cancer '
I (c) Binary fission 30 (b) AIDS and cancer
8. (d) All of these. 33. (c) Salmonella typhi
O (b) Nucleus 34, (d) Both (a) & (c)
10 (d) it assists in evolution by 35. (b) Bordetella pertussis
producing variations.
11 (d) parthenogenesis 36. (b) Diptheria, leprosy, plague
12 (a) birds and reptiles 37 (a) Rhino viruses
13 (d) Whale, Mouse 38. (b) female Anopheles
14. | (a) Sharks 29" (c) 1986
115: (d) natural selection 40. (c) Pollutants
16. (d) Binomial 4]. (d) Electrostatic converter
17. | (d) A group of any ranking 42. (c) undesirable high level of sound
18. | (a) Presence or absence of a well | 43. (b) biomagnification in aquatic
defined nucleus. plants
19. | (d) Linnaeus 44, (d) Mode of Nutrition
20. | (a) Fructose ; 45 (d) Female reproductive tract
21. | (a) spontaneous generation 46 (c) Stromna
22. | b) Oparin and Haldane 47 (c) Luteal phase and lasts for about
13 days
23. | (b) oxidising along with H, 48 d) Plantae and Animalia
24. | (b) Oxygen 49 (c) carbon dioxide
25. | (c) in water 50 (b) chemoheterotroph
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